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QUESTION 1

Refer to following code:
class Vehicle {
constructor(plate) {
This.plate =plate;

}

}

Class Truck extends Vehicle {
constructor(plate, weight) {
/IMissing code

This.weight = weight;

}

displayWeight() {

https://lwww.passditsure.com/javascript-developer-i.html
2024 Latest passditsure JAVASCRIPT-DEVELOPER-I PDF and VCE dumps
Download

console.log("The truck ${this.plate} has a weight of ${this.weight}lb.\\');}}

Let myTruck = new Truck('123AB\\', 5000);

myTruck.displayWeight();

Which statement should be added to line 09 for the code to display “The truck 123AB has a weight of 5000Ib.\\'?

A. Super.plate =plate;
B. super(plate);

C. This.plate =plate;

D. Vehicle.plate = plate;

Correct Answer: B

QUESTION 2

Given HTML below:

Universal Container
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Applied Shipping

Burlington Textiles

Which statement adds the priority = account CSS class to the universal Containers row?
A. Document .querySelector(‘#row-uc\\').classes.push( priority-account\\’);

B. Document .queryElementByld( row-uc\\').addclass( priority-account\\’);

C. Document .querySelector(‘#row-uc\\').classList.add( priority-account\\’);

D. Document .querySelectorALL( #row-uc\\').classList.add( priority-account\\');

Correct Answer: B

QUESTION 3

A developer creates a simple webpage with an input field. When auser enters text in the input field and clicks the button,
the actual value of the field must be displayed in the console.

Here is the HTML file content:

Display

The developer wrote the javascript code below:

Const button = document.querySelector("button\\');
button.addEvenListener(click\\', () => (

Const input = document.querySelector(input\\’);
console.log(input.getAttribute("value\l));

When the user clicks the button, the output is always "Hello".

What needs to be done make this code work as expected?

A. Replace line 04 with console.log(input .value);

B. Replace line 03 with const input = document.getElementByName(Cinput\\');
C. Replace line 02 with button.addEventListener("onclick", function() {
D. Replace line 02 with button.addCallback("click", function() {

Correct Answer: A
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QUESTION 4

Refer to the code:
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function Animal (size, type) {

this.size = size

| “small’;
this.type = type || "Amimal’;

this.cantalk = false;

e

let Pet = function (size, type, name, owner) {
Animal.call(this, size, type);
this.name = name;

this.owner = owner;

Pet prototype = object create (Aninal.protctype);
let petl = new Pet ();
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Given the code above, which three properties are set for petl? Choose 3 answers
A. name

B. owner

C. type

D. canTalk

E. size

Correct Answer: CDE

QUESTION 5
CORRECT TEXT

Refer the code below.
x=3.14;

function myfunction() {
"use strict”;

y=X;

}

z=x;

myFunction();

A. Zis equal to 3.14

B. Use strict has effect only on line 5.
C. Line 5 throws an error
D. PlaceHolder

Correct Answer: A

QUESTION 6

Refer to the code below:
Let str = “javascript\\';
Str[0] = "J\\;

Str4] = \'S\;
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After changing the stringindex values, the value of str is “javascript\\'. What is the reason
for this value:

A. Non-primitive values are mutable.

B. Non-primitive values are immutable.

C. Primitive values are mutable.

D. Primitive values are immutable.

Correct Answer: D

QUESTION 7

Which three statements are true about promises ? Choose 3 answers
A. The executor of a new Promise runs automatically.

B. A Promise has a .then() method.

C. A fulfilled or rejected promise will not change states .

D. A settled promise can become resolved.

E. A pending promise can become fulfilled, settled, or rejected.

Correct Answer: BCE

QUESTION 8

Refer to the code below:

console.log("\\'start);

Promise.resolve( Success\\') .then(function(value){
console.log("Success\');

D

console.log(CEnd\\Y);

What is the output after the code executes successfully?
A. End Start Success

B. Start Success End

C. Start End Success

D. Success Start End
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Correct Answer: C

QUESTION 9

Given the HTML below:
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Which statement adds the priority-account CSS class to the Universal Containers row?
A. document. querySelector (#row-uc\\').classes-push(\\'priority-account\\’);

B. document. getElementByid(\\'row-uc\\').addClass(\\'priority-account*);

C. document. querySelectorAll(\\'#row-uc\\') -classList.add("priority-accour\\);

D. document. queryselector(\\'#row-uc\\').ClassList.add(\\'priority-account\\’);

Correct Answer: D

QUESTION 10

A developer wants to create an object from a function in the browser using the code below.

What happens due to the lack of the mm keyword on line 02?

A. window.name is assigned to \\'hello\\' and the variable = remains undefined.

B. window.m Is assigned the correct object.

C. The m variable is assigned the correct object but this.name remains undefined.
D. The m variable is assigned the correct object.

Correct Answer: A
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QUESTION 11

A developer writers the code below to calculate the factorial of a given number.
Function factorial(number) {

Return number + factorial(number -1);
}

factorial(3);

What isthe result of executing line 047
A.0

B.6

C. -Infinity

D. RuntimeError

Correct Answer: D

QUESTION 12

Given the code below:

const copy = JSON.stringify([ newString(" false \\'), new Bollean( false ), undefined ]);
What is the value of copy?

A. -- [\"false\", {}]-

B. -- [false, {}]-

C. -- [ \"false\" , false, undefined ]-

D. -- [ \"false\" ,false, null ]-

Correct Answer: D

QUESTION 13

A developer wants to use a module named universalContainersLib and then call functions from it.

How should a developer import every function from the module and then call the functions foo and bar?

A. import * from \\'/path/universalContainersLib.js\\'; universalContainersLib. foo ()7 universalContainersLib.bar ();

B. import {foo,bar} from \\/path/universalCcontainersLib.js\\'; foo(): bar()?
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C. import all from \\'/path/universalContainersLib.js\\'; universalContainersLib.foo(); universalContainersLib.bar ();
D. import * as lib from \\'/path/universalContainersLib.js\\'; lib.foo(); lib. bar ();

Correct Answer: D

QUESTION 14

A developer is debugging a web server that uses Node.js The server hits a runtime error every third request to an
important endpoint on the web server.

The developer added a break point to the start script, that is at index.js at he root of the server\\'s source code. The
developer wants to make use of chrome DevTools to debug.

Which command can be run to access DevTools and make sure the breakdown is hit?
A. node -i index.js

B. Node --inspect-brk index.js

C. Node inspect index.js

D. Node --inspect index.js

Correct Answer: D

QUESTION 15

A developer at Universal Containers creates a new landing page based on HTML, CSS, and JavaScript TO ensure that
visitors have a goodexperience, a script named personaliseContext needs to be executed when the webpage is fully
loaded (HTML content and all related files ), in

order to do some custom initialization.

Which statement should be used to call personalizeWebsiteContent based onthe above business requirement?

A. document.addEventListener("WonDOMContextLoaded\\', personalizeWebsiteContext);

B. window.addEventListener(‘load\\',personalizeWebsiteContext);

C. window.addEventListener("onload\\', personalizeWebsiteContext);

D. Document.addEventListener(""WDOMContextLoaded\\' , personalizeWebsiteContext);

Correct Answer: B
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